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Reasoning Mega Quiz for SSC CHSL 
 

Q1. Rearrange the jumbled up letters in their natural sequence and find the odd one out. 

(a) AONMDY 

(b) UETSAYD 

(c) YDFIAR 

(d) DLOHIAY 

 

Q2. Identify the odd one from the list below. 

(a) TIGER 

(b) LION 

(c) RABBIT 

(d) LEOPARD 

 

Q3. If A = 1, BA = 21 and FAI = 619, then what is the value of ICE ? 

(a) 935 

(b) 359 

(c) 103 

(d) 947  

 

Q4. If BFSZ means AGRA, then the last letter the word got by decoding FSBG is 

(a) F 

(b) I 

(c) H 

(d) A 

 

Q5. Select the pair in which the numbers are similarly related as in the given pair: 

8 : 56 : : ----: ---- 

(a) 5 : 25 

(b) 7 : 34 

(c) 9 : 81 

(d) 4 : 12 

 

Q6. If @ means +, # means - , $ means x and * means ÷, then what 

is the value of 

8 # 4 $ 3 * 6 @ 4 = 

(a) 10 

(b) -8 

(c) 2 

(d) 5 
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Q7. If in a certain code language, DESTRUCTION is written as 25679317804, how will the word 

NOTICE be written in that code language? 

(a) 479701 

(b) 407815 

(c) 537924 

(d) 480751 

 

Q8. If ‘+’ mean ‘multiplication’ , ‘–’ means ‘division’, ‘x’ means ‘subtraction’ and ‘÷ ’ means 

‘addition’, the 2 + 3 ÷ 2 × 15 – 3 is 

(a) -8 

(b) 11 

(c) 24 

(d) 3 

 

Q9. Find the correct option which has a similar relationship. 

Mobile : Charger : Sharpener : ? 

(a) paper 

(b) Pencil 

(c) Pen 

(d) Rubber 

 

Q10. Identify the odd one from the list below: 

(a) Shoes 

(b) Trouser 

(c) Cycle 

(d)  Gloves 

 

Directions (11-11): Study the following figures and answer the questions given below. 

 
Q11. By which number, the married placed person who are not graduates represented? 

(a) 5 

(b) 7 

(c) 1 

(d) 2 
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Directions (12-13): In each of the following questions, a statement is given followed by two 

conclusions numbered I and II 

 

Q12. Statement: 

This book ‘Z’ is the only book which focuses its attention to the problem of poverty in India between 1950 

to 1980. 

Conclusion: 

I. There was no question of poverty before 1950. 

II. No other book deals with poverty in India during 1950 to 1980. 

(a) If only conclusion I follows; 

(b) If only conclusion II follows; 

(c) If neither I nor II follows; and 

(d) If both I and II follow 

 

Q13. Statement: 

The percentage of national income shared by the top 10% of households in India is 35. 

Conclusion: 

I. when an economy grows fast, concentration of wealth in certain pockets of population takes place. 

II. The National Income is unevenly distributed in India. 

(a) If only conclusion I follows; 

(b) If only conclusion II follows; 

(c) If neither I nor II follows; and 

(d) If both I and II follow 

 

Directions (14-15): In each question below a statement is followed by two assumptions numbered 

I and II. An assumption is something supposed or taken for granted. You have to consider the 

statement and the following assumptions and then decide which of the assumptions is implicit in 

the statement. Give answer:- 

 

Q14. Statement:- 

An advertisement in a newspaper – “wanted unmarried, presentable 

matriculate girls between 18 and 21, able to speak fluently in English, 

to be hired as models”. 

Assumptions:- 

I. Fluency in English is a prerequisite for good performance a model. 

II. Height does not matter in performing as a model. 

(a) if only assumption I is implicit. 

(b) if only assumption II is implicit. 

(c) if either assumption I or II is implicit. 

(d) if neither assumption I nor II is implicit. 
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Q15. Statement:- 

“We offer the best training in the field of computers” –an advertisement. 

Assumptions:- 

I. People are interested in getting training in computers. 

II. People want the best training. 

(a) if only assumption I is implicit. 

(b) if only assumption II is implicit. 

(c) if either assumption I or II is implicit. 

(d) if both assumption I and II are implicit. 

 

Directions (16-17): Study the following information carefully and answer the questions given 

below. 

 

A is 1 m to the north of B, who is 2 m to the north of F. E is 5 m to the east of A and D is to the southeast of 

B and is in line with F at a distance of 5 m. 

 

Q16. E is in which direction with respect to D and what is the distance between them? 

(a) 5 m, East 

(b) 3m, North 

(c) 2 m, South 

(d) 2 m, West 

 

Q17. A is in which direction with respect to D? 

(a) East 

(b) Northwest 

(c) South 

(d) West 

 

Q18. Find out the next term in the following series 

2, 3, 7, 16, 32, ? 

(a) 57 

(b) 64 

(c) 48 

(d) 43 

 

Q19. Find out next letters in the following series. 

AZ, WV, SR, ON, ? 

(a) JI 

(b) KJ 

(c) ML 

(d) JK 



5 www.bankersadda.com   | www.sscadda.com|www.careerpower.in  |  www.adda247.com 

 

 

Q20. In the following question select the odd number pair from 

the given alternative 

(a) 113, 96 

(b) 84, 67 

(c) 79, 63 

(d) 167, 150 

 

Directions (21-22): In the following question, select the related 

letters/number from the given alternatives. 

 

Q21. BGMR : DIOT : : SNOV : ? 

(a) UPXQ  

(b) QPUX 

(c) UMPW  

(d) UPQX 

 

Q22. 12 : 156 : : 14 : ? 

(a) 195  

(b) 205 

(c) 208  

(d) 210  

 

Q23. In the following question, select the odd letters from the given alternatives. 

(a) ADG  

(b) CFI 

(c) JMQ  

(d) SVY  

 

Q24. A series is given with one term missing. Select the correct alternative from the given ones 

that will complete the series. 

AD, CE, EF, GG, ? 

(a) II  

(b) IH 

(c) HI  

(d) IJ  

 

Q25. In the following question, select the missing number from the given series. 

7, 10, 14, 19, 25, ? 

(a) 32  

(b) 36 

(c) 38  

(d) 40  
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Q26. If "÷" denotes "subtracted from", "+" denotes "multiplied by", "–" denotes "added to" and "×" 

denotes "divided by", then 

19 + 2 ÷ 2 + 2 – 14 = ? 

(a) 52  

(b) 46 

(c) 48  

(d) 88  

 

Q27. If "#" denotes "multiplied by", "@" denotes "subtracted from", "*" denotes "added to" and 

"%" denotes "divided by", then which of the following equation must be true? 

(a) 4 % 2 # 6 * 7 = 18  

(b) 3 # 9 @ 4 # 6 = 4 

(c) 5 # 6 % 3 @ 4 = 8  

(d) 14 % 2 * 3 # 8 = 31  

 

Q28. If 11 # 2 @ 6 = 78 and 15 # 4 @ 8 = 152, then 17 # 6 @ 7 = ? 

(a) 161  

(b) 143 

(c) 221  

(d) 157  

 

Q29. If 2 = 0, 5 = 1 and 8 = 4, then 11 = ? 

(a) 8  

(b) 9 

(c) 10  

(d) 6  

 

Directions (30-30): In each of the following question below are given some statements followed 

by some conclusions. Taking the given statements to be true even if they seem to be at variance 

from commonly known facts, read all the conclusions and then decide which of the given 

conclusion logically follows the given statements. 

 

Q30. Statements:  

I.  Some pens are pencils. 

II.  All pencils are erasers. 

III.  Some erasers are cups. 

Conclusions:  

I.  Some pens are cups. 

II.  Some pencils are cups. 

III.  Some cups are pencils. 

IV.  Some erasers are pens. 

(a) Only conclusion (II) follows  

(b) Only conclusion (IV) follows 

(c) Only conclusion (I) follows  

(d) No conclusion follows 
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